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Domain- any value not in the domain of g isn't in the domain of f{g(x)]. Also
g(x) cannot equal 1 because it would make the denominator in f(x) = 0.
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The number of bacteria in a refrigerated food is given by

N(T)=20T2-80T+500, 2<T<14
where T is the temperature of the food. When the food is removed from
refrigeration, the temperature is given by

T(t)=4t + 2, 0<t<3

where t is the time in hours. Find N in terms of t and interpret its
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*How long the food has been out of refrigeration will affect the
temperature and the temperature affects the number of bacteria.
Therefore, the time the food has been out of refrigeration will determine
the number of bacteria.



A pebble is dropped into a calm pond causing ripples in the form of concentric
circles. The radius (in feet) of the outer ripple is given by r{t) = .Bt, where tis the
time in seconds after the pebble strikes the water. The area of the circle is given by

the function A(r) = 7t rZ. Find, and interpret (Ao r) (b)
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